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The University of Calgary
Department of Chemical & Petroleum Engineering
ENCH 501: Transport Phenomena Quiz #5 November 8, 2011

Time Allowed: 45 mins. Name:

(a) (10 pts) Show that the Integral momentum equation of the boundary layer is given by:

du d (8
== U —uud

where 0 is the boundary layer thickness. Derive all important steps and state all
assumptions.

(b) (Bonus: 2 pts) If you assume that u = a + by + cy? based on the boundary conditions:
y=0,u=0;y=06,u=U_ y=0,du/dy =0,
obtain an expression for &(x).
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